

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

Progress Estimate Number 10			241018-C08 Etter Emery Sapp & Sons, Inc.		eriod Start eriod End	August 2 August 1		Original Contract Amount Net Change Order Amount Current Contract Amount		unt	43,225.05 \$0.00 43,225.05
Approval Date										Ву	User
August 18, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by										skyrmm1
August 18, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										wilsor2
August 20, 2025	Reviewed and Approved at the Central Office Controllers Office Level by									el by	ramses1
Original Completion	on Date	Current Co	mpletion Date	Act	ual Complet	ion Date		% of Curre	nt Contract A	mount Compl	ete
November 1, 2	025	Novemb	per 1, 2025						101.72%	6	
	Con	tract Informati	onal Dates						Milestones		
Date Description	Original Con	npletion Date	Current Completi	on Date		Date Original			Current	Days	Diary
Acceptance Date						Des	cription	Completion Date	Completion Date	Remaining on Milestone	Charge Days
Awarded Date	November 8,	2024	November 8, 2024			Miles	stone -	September	September	23	
Letting Date	October 18, 2	2024	October 18, 2024		Calendar Time		Calendar 12,		12, 2025		
Notice to Proceed Date	December 9,	2024	December 9, 2024			JKU0060 -					
Work Began Date	April 21, 2025	5	April 21, 2025			145	days				

Contract Total Pa	y For Estimate No. 10			
		This Estimate	Previous	To Date
241018-C08				
	Total Posted Items Pay	\$117,758.52	\$7,860,396.14	\$7,978,154.66
	Gross Item Adjustments	(\$4.52)	(\$295,557.60)	(\$295,562.12)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$72,300.00	\$315,694.56	\$387,994.56
			\$7,880,533.10	\$8,070,587.10
Contract Total Pa	yable This Estimate:	\$190,054.00		

Items Paid This Estimate Period Line Unit Current Item Description Unit Current Proiect Item Installed Installed Number Number Code Price Qty Amount JKU0060 0030 3105002 GRAVEL (A) OR CRUSHED STONE (B) TONS \$64.500 0.070 \$4.52 0070 6099902 MISC.HANDICAP PARKING SYMBOL-WHITE STANDARD WATERBORNE EΑ \$106.000 3 \$318.00 MARKING PAINT WITH TYPE P BEAD/WHITE HANDICAP PARKING SYMBOL 0142 6161030 TYPE 3 MOVEABLE BARRICADE EΑ \$106.500 4 \$426.00 0230 6200021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW EΑ \$373.000 \$22,007.00 59 0240 6205902A 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L LF \$0.280 143,096 \$40,066.88 **BEADS** 0250 6205903A 6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE LF \$0.280 107,605 \$30,129.40 L BEADS 0260 6205906A 12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L LF \$0.530 9,424 \$4,994.72 BEADS 0280 6261000A BITUMINOUS SHOULDER RUMBLE STRIP STA \$19,812.00 \$12.000 1,651

 Project JKU0060 - Total
 \$117,758.52

 Overall - Total
 \$117,758.52

Contract Adjustments This Estimate

Project Number	Adj Type	System Generated	Comments	Project Percentage	Amount
JKU0060	Other Contract Adjustment	skyrmm1	Job Number: JKU0060 Line No. 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX) SP095 (25-27) in leu of SP125 (76-22), Lot 3-5	100	\$36,150.00
			TSR Bonus = 99.6% or		

Revision 5/29/2025 Page 1 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

Progress Estimate Number 10		Contract ID per Prime Contractor	241018-C08 Emery Sapp & \$		Pay Period Start Pay Period End	August 2, 202 August 15, 20	25 Net Cha	Contract Annge Order A Contract An	mount	\$7,843,225.05 \$0.00 \$7,843,225.05
Projec	ct Num	per Adj Type	Syst	em Generated	d Com	nments	Project P	ercentage	Ar	mount
					\$36,150 Job Number Line No. 005	50				
					MIXTURE PO (SP125BSM) SP095 (25-2	MIX)				
					SP125 (76-2 TSR Bonus : \$0.00	,				
JKU0060		Other Contract Adjustment	skyrmm	1	Job Number Line No. 005 ASPHALTIC MIXTURE P (SP125BSM	60 CONCRETE G 76-22		100		\$36,150.00
					SP095 (25-2 SP125 (76-2					
					TSR Bonus : \$36,150	= 95.8% or				
Project JI	KU0060) - Total								\$72,300.00
Overall - 1			are listed in the	Incentive, Dis	incentive, Liquidate	ed Damages or	Other Contrac	t Adjustments		\$72,300.00
		nents This Estimate								
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0060	0030	GRAVEL (A) OR CRUSHE STONE (B)	D Overrun						\$64.50	(\$4.52)
	0070	MISC.	Material		generated Materi Adjustment (0002 overridding Paym	This adjustment offsets the original system- enerated Material Payment Estimate Item adjustment (0002) due to user skyrmm1 werridding Payment Estimate Exception 1 on ne current Payment Estimate.		3	\$106.00	\$318.00
	0070	MISC.	Material					-3	\$106.00	(\$318.00)
	0230	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		generated Materi Adjustment (0003 overridding Paym	This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user skyrmm1 overridding Payment Estimate Exception 3 on the current Payment Estimate.		59	\$373.00	\$22,007.00
	0230	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material				-59		\$373.00	(\$22,007.00)
	0240	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMEN MARKING PAINT, TYPE L BEADS			This adjustment of generated Materi Adjustment (0004 overridding Paym the current Paym	al Payment Esti 4) due to user sk nent Estimate Ex	mate Item syrmm1	143,096	\$0.28	\$40,066.88
	0240	0240 6 IN. WHITE HIGH BUILD Material WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		-143,09		\$0.28	(\$40,066.88)			
	0245 TEMPORARY REMOVABLE Material MARKING TAPE, 24 IN., WHITE			This adjustment of generated Materi Adjustment (0005 overridding Paym the current Paym	al Payment Esti 5) due to user sk nent Estimate Ex	mate Item syrmm1	108	\$16.00	\$1,728.00	

Revision 5/29/2025 Page 2 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

Estimate	gress e Numl 10	Contract ID ber Prime Contractor	241018-C08 Emery Sapp & S	Sons, Inc.	Pay Period Start Pay Period End	August 2, 2025 August 15, 2025	Net Change Ord	riginal Contract Amount et Change Order Amount urrent Contract Amount			
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments	Adjustr Quan		Adjustment amount		
JKU0060	0245	TEMPORARY REMOVABI MARKING TAPE, 24 IN., WHITE	LE Material					108 \$16.00	(\$1,728.00)		
	0250	6 IN. YELLOW HIGH BUIL WATERBORNE PAVEMEI MARKING PAINT, TYPE L BEADS	NT		generated Materi Adjustment (0006	offsets the original s al Payment Estimat 6) due to user skyrm nent Estimate Excep ent Estimate.	e Item m1	605 \$0.28	\$30,129.40		
	0250	6 IN. YELLOW HIGH BUIL WATERBORNE PAVEMEI MARKING PAINT, TYPE L BEADS	NT				-107	605 \$0.28	(\$30,129.40)		
	0260	12 IN. WHITE HIGH BUILE WATERBORNE PAVEMEI MARKING PAINT, TYPE L BEADS	NT		generated Materi Adjustment (0007	offsets the original s al Payment Estimat 7) due to user skyrm nent Estimate Excep ent Estimate.	m1	\$0.53	\$4,994.72		
	0260	12 IN. WHITE HIGH BUILE WATERBORNE PAVEMEI MARKING PAINT, TYPE L BEADS	NT				-9	424 \$0.53	(\$4,994.72)		
Total									(\$4.52)		

Revision 5/29/2025 Page 3 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	ontract Project Informati	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JKU0060	I-35-1(295)	Resurface	I-35	CLAY	from 1.6 miles north of 12	28th Street to Pleasant Valley	Road
Totals b	y Job Nur	nbers					
JKU0060		item Pay em Adjustmer		tem Pay	This Estimate \$117,758.52 (\$4.52) \$117,754.00	Previous \$7,860,396.14 (\$295,557.60) \$7,564,838.54	To Date \$7,978,154.66 (\$295,562.12) \$7,682,592.54
			ments		\$0.00 \$0.00 \$0.00 \$72.300.00	\$0.00 \$0.00 \$0.00 \$315,694.56	\$0.00 \$0.00 \$0.00 \$387,994.56

Revision 5/29/2025 Page 4 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6099902, Project Item Line Number 0070, Material Set 6099902, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Material certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6099902, Project Item Line Number 0070, Material Set 6099902, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Material certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6200021, Project Item Line Number 0230, Material Set 620002196, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Material certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205309, Project Item Line Number 0245, Material Set 620530996, Material 1048PMRPMTWH - Marking Tape Removable White, Acceptance Action Generic 1048PMRPMTWH is insufficient.	Material certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205902A, Project Item Line Number 0240, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205902A, Project Item Line Number 0240, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205903A, Project Item Line Number 0250, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205903A, Project Item Line Number 0250, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205906A, Project Item Line Number 0260, Material Set 6205906A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0060, Item 6205906A, Project Item Line Number 0260, Material Set 6205906A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material testing results and certification will be added at a later date	skyrmm1	Overridden
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0030, Contract Line Item Number 0030, Item 3105002, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4030132, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0065, Contract Line Item Number 0065, Item 4071007, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0080, Contract Line Item Number 0080, Item 6131010, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6131014, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6131017, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0140, Contract Line Item Number 0140, Item 6131018, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0210, Contract Line Item Number 0210, Item 6161098A, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C08, Contract Project JKU0060, Project Item Line Number 0270, Contract Line Item Number 0270, Item 6221001, Minor Item.	Item overrun will be addressed in a later Change Order	skyrmm1	Acknowledged

Revision 5/29/2025 Page 5 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018- C08	JKU0060	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,800.00	\$4,800.00
000		0001	0020	2071000	LINEAR GRADING CLASS 1	0.10	0.00	0.10	STA	0.10	\$16,450.00	\$1,645.00
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	230.00	0.00	230.00	TONS	244.00	\$64.50	\$15,738.00
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	13,643.90	0.00	13,643.90	TONS	11,970.58	\$89.00	\$1,065,381.62
		0001	0050	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	35,967.30	0.00	35,967.30	TONS	38,575.23	\$120.50	\$4,648,315.22
		0001	0065	4071007	TACK COAT - NON-TRACKING	45,419.00	0.00	45,419.00	GAL	45,546.00	\$3.80	\$173,074.80
		0001	0070	6099902	MISC.HANDICAP PARKING SYMBOL-WHITE STANDARD WATERBORNE MARKING PAINT WITH TYPE P BEAD/WHITE HANDICAP PARKING SYMBOL	3.00	0.00	3.00	EA	3.00	\$106.00	\$318.00
		0001	0800	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,769.50	0.00	1,769.50	SQYD	1,802.30	\$293.00	\$528,073.90
		0001	0090	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	177.00	0.00	177.00	SQYD	0.00	\$5.00	\$0.00
		0001	0100	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	177.00	0.00	177.00	SQYD	0.00	\$5.00	\$0.00
		0001	0110	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	3,227.00	0.00	3,227.00	LF	5,964.00	\$4.00	\$23,856.00
		0001	0120	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,760.00	0.00	1,760.00	EA	742.00	\$4.00	\$2,968.00
		0001	0130	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	108.00	0.00	108.00	EA	190.00	\$8.00	\$1,520.00
		0001	0140	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	104.00	0.00	104.00	EA	274.00	\$4.00	\$1,096.00
		0001	0142	6161030	TYPE 3 MOVEABLE BARRICADE	9.00	0.00	9.00	EA	9.00	\$106.50	\$958.50
		0001	0144	6161033	DIRECTION INDICATOR BARRICADE	64.00	0.00	64.00	EA	30.00	\$53.50	\$1,605.00
		0001	0146	6161055	SEQUENTIAL FLASHING WARNING LIGHT	64.00	0.00	64.00	EA	30.00	\$53.50	\$1,605.00
		0001	0150	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	304.70	0.00	304.70	TONS	245.00	\$67.60	\$16,562.00
		0001	0160	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,840.00	0.00	1,840.00	SQYD	1,116.00	\$20.00	\$22,320.00
		0001	0170	6161005	CONSTRUCTION SIGNS	842.00	0.00	842.00	SQFT	595.00	\$6.50	\$3,867.50
		0001	0180	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	6.00	\$53.50	\$321.00
		0001	0190	6161025	CHANNELIZER (TRIM-LINE)	299.00	0.00	299.00	EA	299.00	\$21.50	\$6,428.50
		0001	0200	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	2.00	\$800.00	\$1,600.00
		0001	0210	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	5.00	\$3,100.00	\$15,500.00
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$603,200.80	\$603,200.80
		0001	0225	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0230	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	74.00	0.00	74.00	EA	59.00	\$373.00	\$22,007.00
		0001	0240	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	178,870.00	0.00	178,870.00	LF	143,096.00	\$0.28	\$40,066.88
		0001	0245	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	108.00	0.00	108.00	LF	108.00	\$16.00	\$1,728.00
		0001	0250	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	134,506.00	0.00	134,506.00	LF	107,605.00	\$0.28	\$30,129.40
		0001	0260	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	11,780.00	0.00	11,780.00	LF	9,424.00	\$0.53	\$4,994.72
		0001	0270	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	454,196.00	0.00	454,196.00	SQYD	460,844.00	\$1.45	\$668,223.80
		0001	0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,064.10	0.00	2,064.10	STA	1,651.00	\$12.00	\$19,812.00
		0001	0285	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.00	\$8,530.00	\$0.00
		0010	0290	6061060	MGS GUARDRAIL	1,525.00	0.00	1,525.00	LF	1,525.00	\$21.30	\$32,482.50
		0010	0300	6061080	MGS END ANCHOR	2.00	0.00	2.00	EA	2.00	\$1,175.00	\$2,350.00
		0010	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$3,202.00	\$6,404.00
		0040	0320	9035004A	SH-FLAT SHEET	239.00	0.00	239.00	SQFT	227.00	\$23.50	\$5,334.50
		0040	0330	9035069A	SHF-FLAT SHEET FLUORESCENT	165.00	0.00	165.00	SQFT	165.00	\$25.60	\$4,224.00
	Project JI	KU0060 - To	otal Value	Posted to I	Date as of Report Generated Date							\$7,978,511.64
241018-C	08 Overal	I - Total Val	ue Poste	d to Date as	of Report Generated Date							\$7,978,511.64

Revision 5/29/2025 Page 6 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: JKU0060

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	7/31/25	8/18/25	1	0.07	TONS	MO-291 to I-35 SB Ramp I-35 NB to MO-291 Ramp					Per Section 310.5.3 of the Spec. Book, rounding total gravel quantity to the nearest ton.
0070	6099902	MISC. PAVED DRAINAGE	8/13/25	8/18/25	1	3.00	EA	Commuter lot					
0142	6161030	TYPE 3 MOVEABLE BARRICADE	7/22/25	8/14/25	1	4.00	EA	Lightburne					
0230	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	8/14/25	8/18/25	1	59.00	EA	Lightburne and HWY 69 intersection					approx. 80% for prompt payment pending final field measurement
0240	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/14/25	8/18/25	1	143,096.00	LF	Mainline, ramps, access road, and commuter lot					approx. 80% for prompt payment pending final field measurement
0250	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/14/25	8/18/25	1	107,605.00	LF	Mainline, ramps, and access road					approx. 80% for prompt payment pending final field measurement
0260	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/14/25	8/18/25	1	9,424.00	LF	Mainline					approx. 80% for prompt payment pending final field measurement
0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	8/14/25	8/18/25	1	1,651.00	STA	Mainline					approx. 80% for prompt payment pending final field measurement

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 14



Duringt	Line	December	A -11	Other	F-4	0	0	A t	Demodes
Project	Line	Description	Adjustment Type	Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0060	0030	GRAVEL (A) OR CRUSHED STONE (B)	Overrun	Overrun	9	Aug 4, 2025	SYSTEM	(\$898.49)	
		(5)			10	Aug 18, 2025	SYSTEM	(\$4.52)	
				Overrun - T	otal			(\$903.01)	
			Overrun - T	otal				(\$903.01)	
	0030 -	Total						(\$903.01)	
	0040	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		9	Aug 4, 2025	SYSTEM	(\$1,065,381.62)	
		. 60 . 22 (51)			9	Aug 4, 2025	SYSTEM	\$1,065,381.62	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item	ACAD	8	Jul 16,	wilsor2	\$2,462.08	Adjustment for 1,954.03 Tons of SP095 ILO BP1 @ 6.3% AC placed between
			Adjustment	AOAD	9	2025 Aug 4,	woodwj1	\$800.09	June 30 and July 14. Adjustment for BP-1 25-39 Mix at Virgin AC of 3.4%:
						2025			7/15 - \$800.09
					9	Aug 4, 2025	woodwj1	\$4,895.88	Adjustment for BP-1 25-80 Mix at Virgin AC of 2.8%: 7/17 - \$881.43 7/18 - \$1,007.64 7/21 - \$998.85 7/22 - \$428.55 7/23 - \$1,177.42 8/1 - \$402.00
					9	Aug 4, 2025	woodwj1	\$122.61	Adjustment for SP095 ILO BP-1 at 6.3% AC 7/30 - \$122.61
				ACAD - Tota	al			\$8,280.66	
			Other Item /	Adjustment -	Total			\$8,280.66	
	0040 -	Total						\$8,280.66	
	0050	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP1	Other Item Adjustment	ACAD	5	Jun 2, 2025	woodwj1	\$5,953.76	AC Adjustment 5/27 - \$2029.55 5/29 - \$2238.34 5/30 - \$1685.88
					6	Jun 16, 2025	woodwj1	\$16,866.28	AC Adjustment 5/30 - \$200.4 (New Total of \$1,886.28) 6/2 - \$2,234.04 6/4 - \$2,395.70 6/5 - \$2,443.82 6/6 - \$1,899.71 6/9 - \$2,720.23 6/10 - \$2,273.23 6/12 - \$2,032.23 6/13 - \$666.92
					7	Jun 30, 2025	woodwj1	\$16,915.66	AC Adjustments 6/16 - \$1,517.64 6/18 - \$2,455.65 6/19 - \$2,537.44 6/20 - \$2,541.55 6/24 - \$2,802.50 6/25 - \$2,639.32 6/27 - \$2,421.56
					8	Jul 16, 2025	wilsor2	\$6,536.99	Adjustment for 5,188.09 Tons of SP095 @ 6.3% AC placed between June 30 and July 14.
					9	Aug 4, 2025	woodwj1	\$2,332.08	AC Adjustment 7/28 - \$209.27 7/30 - \$1,000.69 7/31 - \$1,122.12
				ACAD - Tota	al			\$48,604.77	
			Other Item	Adjustment -	Total			\$48,604.77	
			Overrun	Overrun	8	Jul 16, 2025	SYSTEM	(\$91,226.94)	
					9	Aug 4, 2025	SYSTEM	(\$223,028.64)	
				Overrun - T	otal			(\$314,255.58)	
			Overrun - To					(\$314,255.58)	
	0050 -	Total						(\$265,650.81)	
	0000 -	. Juli						(\$200,000.01)	



Cultical Continue											
Majerial Total	Project	Line	Description		Adjustment				Amount	Remarks	
	KU0060	0065		Material	1,7/2-	5		SYSTEM	(\$19,904.40)		
Material Total 19						5	Jun 2,	SYSTEM	\$19,904.40	Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment	
Material Total 19					- Total				\$0.00		
Overlan				Material - T							
Name						9		SYSTEM			
Company Comp					Overrun - T	otal			(\$482.60)		
Mode PANCE PANCE Meterial 10 2025 5YSTEM (\$318.09) 2025 202				Overrun - T	otal				(\$482.60)		
DRAINAGE		0065	- Total						(\$482.60)		
Total S0.00		0070		Material		10		SYSTEM	(\$318.00)		
Material - Total So 00						10		SYSTEM	\$318.00	Estimate Item Adjustment (0002) due to user skyrmm1 overridding Payment	
1000 FURR & PLACE Coverun Coverun 8					- Total				\$0.00		
OBS				Material - T	otal				\$0.00		
CONC MATE FOR FULL DEPTH		0070	- Total						\$0.00		
Overrun - Total (\$,024.49)		0800	CONC MATL FOR	Overrun	Overrun	8		SYSTEM	(\$9,024.40)		
1010 FULL DEPTH PAYEMENT REPAIR SAW CUT (FOR 100			FULL DEPTH		Overrun - T	otal			(\$9,024.40)		
Description				Overrun - T	otal				(\$9,024.40)		
PAVEMENT REPAIR SAW CUT (FOR		0080	- Total						(\$9,024.40)		
FOR		0110	PAVEMENT		Overrun	4		SYSTEM	(\$4,116.00)		
2025 (\$10,916.00)							5		SYSTEM	(\$2,248.00)	
Overrun - Total (\$10,916,00)						-		SYSTEM			
Common						otal					
DOWEL BAR (FURNISH AND INSTALL WITH BASK				Overrun - T	otal						
NSTALL WITH BASK			DOWEL BAR	Overrun	Overrun	4		SYSTEM			
Overrun - Total (\$656.00)			INSTALL WITH			8	Jul 16,	SYSTEM	(\$160.00)		
Overrun - Total					Overrup - T	otal	2023		(\$656.00)		
O140 TIE BAR (DRILL, FURN & INSTAL) (TYPE L				Overrun - T							
Tile BAR (DRILL, FURN & INSTAL) (TYPE L Way 16, 2025 SYSTEM S344.00		0130	- Total								
TYPE L 4 May 16, SYSTEM \$344.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate. 5 Jun 2, 2025 SYSTEM (\$344.00) 5 Jun 2, 2025 SYSTEM \$344.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate. - Total S0.00 Material - Total Overrun Overrun Overrun Overrun SySTEM SySTEM S680.00) Overrun - Total S680.00) Overrun - Total S680.00)			TIE BAR (DRILL, FURN & INSTAL)	Material		4		SYSTEM			
5			(TYPE L			4		SYSTEM	\$344.00	Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment	
2025 Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate. Total						5		SYSTEM	(\$344.00)		
- Total \$0.00 Material - Total \$0.00						5		SYSTEM	\$344.00	Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment	
Material - Total					- Total				\$0.0 <u>0</u>		
2025				Material - T	otal				\$0.00		
Overrun - Total (\$680.00) 0140 - Total (\$680.00)						8		SYSTEM			
0140 - Total (\$680.00)					Overrun - T	otal			(\$680.00)		
				Overrun - T	otal				(\$680.00)		
0150 FURN & PLACE Other Item ACAD 9 Aug 4, woodwj1 \$137.20 AC Adjustment for BP-1 25-80 mix used at Virgin AC of 2.8%:		0140	- Total						(\$680.00)		
		0150	FURN & PLACE	Other Item	ACAD	9	Aug 4,	woodwj1	\$137.20	AC Adjustment for BP-1 25-80 mix used at Virgin AC of 2.8%:	



ect	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks																	
		·	Туре	Adjustment Type	Number	Date	Ву																			
060	0150	BIT. MATL FOR CL C PARTIAL	Adjustment			2025			7/22 - \$137.20																	
		CL C PARTIAL		ACAD - Tota	al			\$137.20																		
			Other Item A	Adjustment -	Total			\$137.20																		
	0150 -		0	0	0	l 40	OVOTEM	\$137.20																		
	0210	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION	Overrun	Overrun	6	Jun 16, 2025	SYSTEM	(\$6,200.00)																		
		INTERFACE, CONTRACTOR		Overrun - T	otal			(\$6,200.00)																		
		FURNISHED / RETAINED	Overrun - To	otal				(\$6,200.00)																		
	0210 -	Total						(\$6,200.00)																		
	0230	PREF THERMO PVMT MARK,	Material		10	Aug 18, 2025	SYSTEM	(\$22,007.00)																		
		LT/RT ARROW			10	Aug 18, 2025	SYSTEM	\$22,007.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user skyrmm1 overridding Payment																	
				Total				\$0.00	Estimate Exception 3 on the current Payment Estimate.																	
			Material - To	- Total				\$0.00 \$0.00																		
	0230 -	Total	material - 10					\$0.00																		
		6 IN. WHITE HIGH	Material		10	Aug 18,	SYSTEM	(\$40,066.88)																		
		BUILD WATERBORNE PAVEMENT			10	2025 Aug 18, 2025	SYSTEM	\$40,066.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user skyrmm1 overridding Payment																	
		MARKING PAINT, TYPE L BEADS				2023			Estimate Exception 5 on the current Payment Estimate.																	
				- Total				\$0.00																		
0	0040	T-4-1	Material - To	otal				\$0.00																		
	0240 - 0245		RARY Material		9	Aug 4,	SYSTEM	\$0.00 (\$1,728.00)																		
	0245	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	REMOVABLE MARKING TAPE,	REMOVABLE MARKING TAPE,	Material		9	2025 Aug 4,	SYSTEM	\$1,728.00	This adjustment offsets the original system-generated Material Payment															
					24 IIV.	27 114.					10	2025	CVCTEM	(¢4.729.00)	Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
						10 Aug 18, SYSTEM (\$1,728.00) 2025																				
																						10	Aug 18, 2025	SYSTEM	\$1,728.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user skyrmm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00																		
			Material - To	otal				\$0.00																		
	0245 -	Total						\$0.00																		
	0250	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		10	Aug 18, 2025	SYSTEM	(\$30,129.40)																		
		PAVEMENT MARKING PAINT, TYPE L BEADS			10	Aug 18, 2025	SYSTEM	\$30,129.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user skyrmm1 overridding Payment Estimate Exception 7 on the current Payment Estimate.																	
				- Total				\$0.00																		
			Material - To	otal				\$0.00																		
	0250 -				40		0)/0==:	\$0.00																		
	U260	12 IN. WHITE HIGH BUILD WATERBORNE	Material		10	Aug 18, 2025 Aug 18,	SYSTEM	(\$4,994.72) \$4,994.72	This adjustment offsets the original system-generated Material Payment																	
	1	PAVEMENT MARKING PAINT, TYPE L BEADS			10	Aug 18, 2025	SISIEW		Inis adjustment onsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user skyrmm1 overridding Payment Estimate Exception 9 on the current Payment Estimate.																	
				- Total				\$0.00																		
	0000	Total	Material - To	otal				\$0.00																		
	0260 - 0270	-Total COLDMILLING BIT. PAVT FOR REM OF SURF.	Overrun	Overrun	9	Aug 4,	SYSTEM	\$0.00 (\$9,900.60)																		
	В			Overrun - T	otal	2025		(\$9,900.60)																		
			Overrun - To		otai			(\$9,900.60)																		
			Svenun - 10	Jtai				(48,500.60)																		



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
60	0270 -	Total						(\$9,900.60)	
	0290	MGS GUARDRAIL	Material		4	May 16, 2025	SYSTEM	(\$32,482.50)	
					4	May 16, 2025	SYSTEM	\$32,482.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 2, 2025	SYSTEM	(\$32,482.50)	
					5	Jun 2, 2025	SYSTEM	\$32,482.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0290 -	Total						\$0.00	
	0300	MGS END ANCHOR	Material		4	May 16, 2025	SYSTEM	(\$2,350.00)	
					4	May 16, 2025	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Jun 2, 2025	SYSTEM	(\$2,350.00)	
					5	Jun 2, 2025	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Paymen Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0300 -	0 - Total						\$0.00	
		TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		4	May 16, 2025	SYSTEM	(\$6,404.00)	
					4	May 16, 2025	SYSTEM	\$6,404.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Paymen Estimate Exception 4 on the current Payment Estimate.
					5	Jun 2, 2025	SYSTEM	(\$6,404.00)	
					5	Jun 2, 2025	SYSTEM	\$6,404.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Paymen Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	Material - Total				\$0.00	
	0310 -	Total						\$0.00	
	0320	SH-FLAT SHEET	Material		3	May 2, 2025	SYSTEM	(\$5,334.50)	
					3	May 2, 2025	SYSTEM	\$5,334.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item Adjustment	MATL	3	May 2, 2025	woodwj1	\$433.44	This payment represents the cost of an additional 48x96 High Intensity Whi Speed Limit sign plus 5% markup that was required due to a plan error. Invoice #72439 \$412.80 The 70 MPH sign that was erroneously called out in the plans at Log Mile 15.122 will be used on Work Order 206-236 on the JOC project JKU0405 a MoDOT furnished sign.
			Other	MATL - Total Other Item Adjustment - Total				\$433.44	
	0200	Tatal	Other Item /	Adjustment -	Total			\$433.44	
	0320 -		Motorial		2	May: 2	CVCTERA	\$433.44	
	0330	SHF-FLAT SHEET FLUORESCENT	Material		3	May 2, 2025	SYSTEM	(\$4,224.00)	
					3	May 2, 2025	SYSTEM	\$4,224.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user woodwj1 overridding Paymen Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0060	0330	SHF-FLAT SHEET FLUORESCENT							
	0330 -	Total						\$0.00	
JKU0060	- Total						(\$295,562.12)		
Overall -	Total						(\$295,562.12)		



Contract Adjustments for Contract - 241018-C08

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
6	JKU0060	Other Contract Adjustment	SPAD	\$13,496.00	100	June 16, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 2 = 102.8% with an Unconfined Joint Factor of 100 = \$13,496.00
		Other Contract Adjustment	SPAD	\$23,618.00	100	June 16, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 1 = 104.9% with an Unconfined Joint Factor of 100 = \$23,618.00
		Other Contract Adjustment	SPAD	\$24,100.00	100	June 16, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 3 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
		Other Contract Adjustment	SPAD	\$24,100.00	100	June 16, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 4 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
6 - Total				\$85,314.00				
7	JKU0060	Other Contract Adjustment	SPAD	\$24,100.00	100	June 30, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 5 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
		Other Contract Adjustment	SPAD	\$24,100.00	100	June 30, 2025	woodwj1	JOB NUMBER: JKU0060 LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 6 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
7 - Total				\$48,200.00				
8	JKU0060	Other Contract Adjustment	SPAD	\$24,100.00	100	July 16, 2025	wilsor2	LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 7 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
		Other Contract Adjustment	SPAD	\$24,100.00	100	July 16, 2025	wilsor2	LINE NUMBER 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								Pay factor SP095 (25-27) Lot 8 = 105% with an Unconfined Joint Factor of 100 = \$24,100.00
8 - Total				\$48,200.00				
9	JKU0060	Other Contract Adjustment	ABIR	\$133,980.56	100	August 4, 2025	woodwj1	SB LN 1 - \$27,778.29 SB LN 2 - \$33,986.93 NB LN 1 - \$36,010.16 NB LN 2 - \$36,205.18
9 - Total				\$133,980.56				
10	JKU0060	Other Contract Adjustment	TSR	\$36,150.00	100	August 18, 2025	skyrmm1	Job Number: JKU0060 Line No. 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								SP095 (25-27) in leu of SP125 (76-22), Lot 1-3
								TSR Bonus = 95.8% or \$36,150
		Other Contract Adjustment	TSR	\$36,150.00	100	August 18, 2025	skyrmm1	Job Number: JKU0060 Line No. 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								SP095 (25-27) in leu of SP125 (76-22), Lot 3-5
								TSR Bonus = 99.6% or \$36,150
								Job Number: JKU0060 Line No. 0050 ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)
								SP095 (25-27) in leu of SP125 (76-22), Lot 6-8
								TSR Bonus = 77% or \$0.00
10 - Total				\$72,300.00				

Revision 5/29/2025 Page 13 of 14



Contract Adjustments for Contract - 241018-C08

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
Overall - Total				\$387,994.56				

Revision 5/29/2025 Page 14 of 14